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/// : \\-\\
- PQLAB&PQ LDC (/B = /C=90° // O
5 , £ BPQ=900& £ CQP=90° B C

- BPQC 580300 APQD e Soch &GeausFren

AOPB&S® P = 90°
0B? = BP? + OP? - (1)
2R GSorP

AOQD &00d& 0D? = 0Q2 + DQ? - (2)
AOQC &00& 0C2 = 0Q2 + CQ2% > (3)
AOPA &00& 0A? = AP? + OP2 - (4)
(1)+(2)= OB2 + 0D? = BP2 + OP2 + 0Q? + DQ?
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= CQ2 + OP2 + 0Q2 + AP2? (~BP = CQ &o8akw DQ = AP)

= (AP? + OP?) + (0Q?% + CQ?)
= 0A2 + 0C? ((3) &(4) © &%0& )
2D Waodod
CZ

B BD
1. AACB&® £C =90°,CD L AB S — = —d JErD0N0s .
900 AC2 ADQ‘) Felelne)

¢3S : AACB, AADC ©¢5°
£/ACB=2ADC=90° .
LA=/A
~AACB~AADC ( §. §. 265708 Joioo )

AC AB

—:—:}ACZZABXAD—)(l) A B
AD AC - D

AACB ,ACDB¢S’

£ACB=2CDB=90°

/B=/B

~AACB~ACDB (€. §. 26708 Da3o:00)

AB BC
— =—>BC2=AB X BD - (2)
BC BD
(2) BC? ABxBD
_— —
(1)  AC? ABXAD
BC?2 BD
D —=—
AC?2 AD
2. 150 e (o 28 DB Fop 208 PR X0 B0 J0&008 9 D I (fe) 383D

TR0, DB WEIMDEPEDLRD W8 DB%8006° &od) DB\ éca:ogo VOB DD D) BDHAW

DEDDL By AP DG 12 D I (fo SBD TrLHR. oD w8'Ed Dy

D
8 SR0F 20,
15
;D - B
' 5, 1595
DE® ety =PD=PB=152 2 M 1220
200663 888 dedo =AB=9» A p C
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= AP? + 92 = 152 = AP = 12&%
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APCD &dc0c
PC? 4+ CD? = PD?
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= PC? + 144 = 225
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3. 2D D80 AD L BC @0 AB? + CD? = BD? + AC? @0 w50
O AADBS® 2D = 90°

AD? + BD? = AB?

= AD? = AB? — BD? - (1)
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AD? + CD? = AC?
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SPH0DD Sz Zeren 10,260 S8k 24 .
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(i) CD L AB 08050 CD =p c
AB D B30 1 0083
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1
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; = a? + b?

1  a?+ b?

Fz 2

1 a? b?
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65 : ABCD 208 D022 e
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CD? =082 4 OD2—eome=- 3)

AD? = 0A% + OD?-----mmnn--- (4)

(D+(2)+(3)+(4) &20&

AB? + BC? + CD? + AD? = 20A% + 20B2 + 20C? + 20D?
—2><ACZ+2><BDZ+2><ACZ+2><BD2
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AC? +BD2 +AC2 +BD2
2 2 2 2

—2><AC2+2><BD2
N 2 2
= AC? + BD?

2. voe €' Gzomo ABC &° w08t 360 BG g0ty . D 2dakn E Docospen Hdowm AB, BC
02 S0 WALV wod AEZ + CD2 = AC2 + DEZ 0 5°dod .
;s : AABE &° 2B = 90°

AE? = AB% + BE? > (1)
ADBC &° 2B = 90°

CD? = BD? + BC? > (2)
ADBE &° 2B = 90°

DE? = BD? + BE? 5.(3)
AABC &° 2B = 90°
AC% = AB? ¥B(C2 > (4)
(1)+(2)= AE? + CD? = AB? + BE2+'BD? + BC?
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3. 208 DTV @a;bab.»ef’ 230225500 écgsﬁooeééo S0°eld B o ﬁfé‘l@ (ooua»)aga»asa TP
B 0 Do A
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AADB, AADC &¢5°
£ADB = £ADC = 90° (AD 1 BC)

AB = AC g L[ ’
AD = AD (&0 g0 ) = D
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2
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a
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4a? = 4h? + a?
4a? — a? = 4h?
3a? = 4h?

4. PQR 92022085 ©0e8 e 36200 P 3¢ 0. PM L QR 06odgn QR 2 Dottoid) M eawd
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;5 1 APQR &° 2P = 90°

PM 1 QR= 2PMQ = 90° #08asn = 2PMR = 90°

AQPR 08030 AQMP ee5° P
£QPR = £QMP = 90°
20 =120 4
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AQPR 0803 APMR

£QPR = £PMR = 90° B
ZR = £R Q
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(1) S08ak0 (2)® Kod
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QM MP

M = VR (PG BZere) 9RdTED SR &’):qbe_?ow R0 )
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PM? = QM.MR
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(i)AB? = BC.BD (ii)AC2 = BC.DC
(iii) AD? = BD.CDeoQ &30S

5 : ADABS805S ADCALS®

£DAB = £DCA = 90° D i B
2D =2¢D
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4B =14B
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(1) S080k0 (2)® &ood
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AC DC

3 — = 2 —
() ADAB ADCA = ADZ = BD.CD
1L ~ = — = = :

6. :oméswm S0 ABC &S° 0208 a0 Cbg g% . oS AB2 = 2AC2 9 HdHod .
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AB? = AC? + AC% ( AC = B()
ABZ = 2AC2
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Aesd 1 (1) AAFO &° £F = 90°
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= 0A? — OF2 = AF? > (1)

ABDO &° 2D = 90°
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= OB2 —0D? = BD? - (2)
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= OA? — OF2 + OB? — OD?+ 0C2 — OE? = AF? + BD? + CE?
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8. 1820 Feted) Ko 208 desd) Ror0tH 240 TeDOv 28 A EQLADA. Bff Toctsd DDHBL 28
D05 sggeoé,eé&. B D “goeoo 008 Do BIEANS” 88 B K0 FPAD 9K DRSO VoI
655 1 e Yowo T (AB)=18»

A Ty (BC)=24
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AABC &° £A = 90° B
AB? + AC? = BC? (@160 dgrodo) 02
(18)2 + AC? = (24)2 18 Do
324+ AC? =576 r

AC? =576 — 324 = 252

AC =252 =36 x7 = 67

B30 P Koo Kol DD (o Brdo =617 .

9. 6 208050 11 T'EDAIV Rorren 28 BEDD JUP V. IO P & Toth Yoero VXD
B0 BOES G650 1220 0D &8 Tocd LOETY P BV JIE] BrEAw dod ?
Q65 1 65 Rowo o (AB) =620
Soctd Rowo Ao (CD)=11»
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DE=11-6=5% 122 [T 11

ABED &° £E = 90°
BD? = BE? + DE? (i Sgrodo) 62> b
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& S0t RoeTo P aiAL G BreHw =13

10. Rs0ersm Sasvazo ABCES® 20250 BC 2 Docsyy D @ose BD = gBC 00 9AD?=7AB? @
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N 2 36 6 1

1
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1 2
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1 3
AE? = AB2 — ZAB? = - AB?
= 4 4

AAED &° £E = 90°
AD? = AE? + DE? (aei6® Sgrodo)
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7
AD? = —AB?2
9
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11, @ady® 80e5° A ABC 2,8 0022860 @280, %gm: B¢ 0020500 g .BC Foard) D
208030 E Dotdorsdyen 2080ed 30300 @and 8AE? = 3AC2 + 5AD? 9 $ovhod

Fe5d 1 AABCS® 2B = 90° 08050 BD = DE = EC = §BC
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AABC &° £B = 90°
AC? = AB? + BC2((0~ri6% dgroso)

AABD &° 2B = 90°
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AABE &° 2B = 90°
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Szvaren ACD 080500 ABE Q8) 00068 . @900 AABE 080k AACDY 23eerie Qiyd

E&0F &050. A g D
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AC? = AB? + BC?
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AABE~AACD (25. 2. 235, DET0S Qoo )
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